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IEH B HE o]
Ty E 7,000 80 560,000
Saqrs 700 80 56,000
K5 1,200 80 96,000
R FE Al 12,000 10 120,000
PEYME (M EHEHETL) 1,700 100 170,000
INEH(A) 1,002,000
H—ERXB(ANT10%) 100,200
PR AT 20,000 2 40,000
£REEMH2100 F3) 27,000 1 27,000
A XREFE(Q00Xx 1800 BHIr=K) 30,000 1 30,000
MAEM(600x3600) 30,000 1 30,000
M EMR(1800x%x900) 30,000 1 30,000
AT—(2700%1800) 50,000 1 50,000
B AT —UEHR 30,000 1 30,000
FEHZE X 60,000 1 60,000
HRER AR E 300,000 1 300,000
INET(B) 697,200
SHEHR(A+BD8%) 135,936
PREEWE 1,835,136
(BA7:F)
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IBH B HE o
AP S 5,000 30 150,000
1R & A 12,000 3 36,000
BEYHE (S BEEHET L) 1,700 30 51,000
INET(A) 237,000
H—EXR(ADT10%) 23,700
PHEALETE 15,000 1 15,000
HRE AR E 200,000 1 200,000
INET(B) 238,700
SHEB(A+BD8%) 38,056
PREEME 513,756
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